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QUESTION 1

Refer to the exhibit.

Edit transform

Conficuration

Priority x| 1 :

Description CCNPCollab

Patte Regex AR

Pattern string « [ ([0-TD(0\d{3,5)) i
Pattern behavior Replace | i

Replace string \1'\2(@ccenpeollab.com i
State Enabled | 1

Save Delete Cancel

What is the result of a transformation applied to alias 885147
A. 98851 @ccnpcollab.com

B. 88513@ccnpcollab com

C. 88514@ccnpcollab.com

D. 88515@ccnpcollab.com

Correct Answer: C

The answer should be 88514@ccnpcollab.com, since the regex considers anything after digit 8 (excludes 1-7), leaves
the rest intact, and replaces the domain. So in short terms, it simply adds the domain after the DN.

QUESTION 2

Between which two DTMF relay methods does the Expressway support interworking? (Choose two.)
A. unsolicited notify

B. RFC 2833

C. KPML
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D. passthrough
E. H.245 user input indication
Correct Answer: BE

When the Expressway is interworking a call between SIP and H.323, it also interworks the DTMF signaling, but only
between RFC 2833 DTMF, and the H.245 user input indicators "dtmf" and "basicString".

Reference: https://www.cisco.com/c/dam/en/us/td/docs/voice_ip_comm/expressway/admin_guide/Cisco-Expressway-
Administrator-Guide-X12-6.pdf

QUESTION 3

A company has enabled ICE to optimize call flows and improve video quality between their Cisco Collaboration
endpoints internally and externally. For which reason would you see activity on the TURN server when a call is
established between two external endpoints?

A. The video call is using encryption, which is not supported by ICE with CUCM 12.5

B. ICE cannot reduce the packet loss on the link

C. A STUN cannot punch holes in the firewall

D. The video call is using 4K resolution, which is not supported by ICE with CUCM 12.5

Correct Answer: C

"Those addresses (A, B, and C) populate the SIP SDP offer and answer as ICE candidates, and after the signaling has
gone through, both endpoints will have the remote party ICE candidate addresses. It is at that point that the endpoints
do a connectivity check by sending STUN messages to one another in an attempt to punch transport holes in the

firewalls in order to establish media connectivity between peers.”

https://www.cisco.com/c/en/us/td/docs/solutions/PA/ICE/icepal25.html

QUESTION 4

Which zone is required between Expressway-E and Expressway-C in Mobile and Remote Access deployments?
A. Unified Communications traversal zone

B. neighbor zone

C. DNS zone

D. traversal zone

Correct Answer: A

QUESTION 5
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An engineer must fix broken SSH tunnels between Expressway-C (192.168.10.5) and Expressway-E (192.168.20.5).
The engineer is advised that the packet capture shows the required packets for the SSH tunnels leaving the
Expressway-C but not reaching the Expressway-E. Which firewall configuration must the engineer allow to resolve this
issue?

A. port 2222 from Expressway-E to Expressway-C

B. port 7001 from Expressway-C to Expressway-E

C. port 7001 from Expressway-E to Expressway-C

D. port 2222 from Expressway-C to Expressway-E

Correct Answer: D

https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/expressway/config_guide/X12-5/exwy _b_mra-expressway-
deployment-guide/exwy_b_mra- expressway-deployment-guide_chapter_0100.html
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